VILLAGE OF UPPER BROOKVILLE SPECIAL BOARD OF TRUSTEES MEETING JUNE 5, 2017

A special meeting of the Board of Trustees of the Incorporated Village of Upper Brookville, Nassau County, New York, was held at 549 Chicken Valley Road, Locust Valley, NY 11560, on Monday, June 5, 2017.

Present: Elliot S. Conway Mayor

Edward J. Madden, Jr. Trustee

Francis J. Russo Trustee (via Video Conference)

Absent: William K Campbell Trustee

Antje B. Dolido Trustee

The Mayor called the meeting to order at 5:15 P.M.

The Mayor reported that the bid opening for 217 Road Improvements Contract was held on May 25, 2017 at the office of the Village Attorney. Bid proposals were submitted by United Paving Corp., John McGowan & Sons, Stasi Bros., Roadwork Ahead, Inc., Stasi Industries Inc., Pratt Bros., Intercounty Paving, Laser Industries, and American Paving. The Board discussed the bids and noted a bid analysis had been prepared by Sidney B. Bowne & Sons, the Village Engineer, dated May 30, 2017, which reviewed the lowest bidder's proposal, John McGowan and Sons., and determined that the proposal was properly submitted and noted John McGowan & Sons. has properly completed municipal improvements projects for various municipalities in Nassau and Suffolk Counties. The Board agreed that John McGowan & Sons, was the lowest responsible bidder in the amount of \$1,078,977.50. After discussion, and on motion duly made and seconded, it was unanimously

RESOLVED, that in accordance with Article 8 of the State Environmental Quality Review Act, the contract for the 2017 Road Improvements shall be classified as a Type II Action and will require no environmental review under SEQRA, and further

RESOLVED, that the actions of the Mayor in executing the contract between the Village of Upper Brookville and John McGowan & Sons, Inc., for the 2017 Road Improvements to various roads in the Village, in the total amount of \$1,078,977.50, be, and the same hereby are approved, and

FURTHER RESOLVED, that the Mayor be and he hereby is authorized to sign any and all necessary documentation in connection with executing the contract including any grant documentation on behalf of the Village.

There being no further business, the meeting was adjourned at 5:30 p.m.

Signed by the Mayor



May 30, 2017

Sidney B. Bowne & Son, LLP

235 East Jericho Turnpike PO Box 109 Mineola, NY 11501 Phone: 516-746-2350 Fax: 516-747-1396 www.bownegroup.com

Board of Trustees Village of Upper Brookville P. O. Box 548 Oyster Bay, NY 11771

Re:

2017 Road Improvements Various Locations

Village of Upper Brookville Contract No. 11728352

Dear Members of the Board:

On May 25, 2016, the Village received nine (9) bids for the above referenced project as follows:

	Amount of Bid	Corrected
Contractor	As Read Off	Amount Bid
John McGowan and Sons, Inc.	\$1,078,977.50	
American Paving & Masonry	\$1,132,168.50	\$1,138,918.50
Pratt Brothers, Inc.	\$1,165,687.00	
United Paving Corp.	\$1,158,920.00	\$1,182,920.00
Intercounty Paving	\$1,187,000.00	
Roadwork Ahead Inc.	\$1,208,875.00	
Stasi Industries Inc.	\$1,236,160.00	
Stasi Brothers Asphalt Corp.	\$1,259,200.00	
Laser Industries, Inc.	\$1,563,900.00	

The mathematical review of each bid found calculation errors of the total amount bid in two of the contractors' bids as shown above. United Paving Corp total amount calculation error moved their bid from 3rd lowest bidder to the 4th lowest bid spot. A review of the low bidder's proposal has determined that their proposal was properly submitted.

The low bidder John McGowan and Sons, Inc. has successfully completed similar work for numerous Villages throughout Nassau and Suffolk Counties.

In view of the above we recommend award to John McGowan and Sons, Inc. located at 323 Glen Cove Avenue, Sea Cliff, NY 11579 for the low bid amount of \$1,078,977.50.

Attached is a copy of the bid summary result.

I remain at your service.

Rul Sh

Sincerely,

Paul F. Stevens, P.E. Associate Partner

PFS:sm

enc:

Peter MacKinnon, Esq. (w/enc.)

Sam Vergata, Road Commissioner (w/enc.)

T:\Village\Upper Brookville\28352-2017Roads_General\Doc\recomendation to award ltr.doc

SUMMARY OF BIDS

CONTRACT NO: 11728352

VILLAGE OF UPPER BROOKVILLE 2017 ROAD IMPROVEMENTS VARIOUS LOCATIONS

BID DATE:

EE: \$1,292,082.50

		TOTAL BID	CORRECTED
BIDDER	SECURITY	AS READ OFF	AMOUNT BID
John McGowan & Sons Inc.	5% BB	\$1,078,977.50	
American Paving Inc.	5% BB	\$1,132,168.50	\$1,138,918.50
Pratt Brothers Inc.	5% BB	\$1,165,687.00	
United Paving Corp.	5% BB	\$1,158,920.00	\$1,182,920.00
Intercounty Paving Associates, L.L.C.	5% BB	\$1,187,000.00	
RoadWork Ahead, Inc.	5% BB	\$1,208,875.00	
State of The Art Construction, Inc.	5% BB	\$1,236,160.00	
Stasi Brothers Asphalt Corp.	5% BB	\$1,259,200.00	
Laser Industries	5% BB	\$1,563,900.00	

(3) (5) ITEM QUANTITY **ENGINEER'S** John McGowan American Paving **Pratt Brothers** United Paving Intercounty Paving NUMBER & UNITS **DESCRIPTION ESTIMATE** & Sons Inc. Inc. Inc. Corp. Associates, L.L.C. 1X 1 Clearing and Grubbing Job Lump Sum Lump Sum Lump Sum Lump Sum Lump Sum Lump Sum \$2,500.00 *** \$2,500.00 *** \$2,500.00 *** \$2,500.00 *** \$2,500.00 \$2,500.00 *** 1B-SS 3 Tree Removal, over 12" up to and Including 24" Diameter \$800.00 \$1,000,00 each \$1,800.00 \$1,500,00 \$500.00 \$1,100,00 \$2,400.00 \$3,000.00 \$5,400.00 \$4,500.00 \$1,500.00 \$3,300.00 1G-SS 3 Stump Removal each \$600.00 \$600.00 \$750.00 \$500.00 \$250.00 \$500.00 \$1,800.00 \$1,800.00 \$2,250.00 \$1,500.00 \$750.00 \$1,500.00 Trimming Shoulders and Slopes 8 1 Job Lump Sum Lump Sum Lump Sum Lump Sum Lump Sum Lump Sum \$3,500.00 \$6,000.00 \$2,500.00 \$6,500.00 \$1,500.00 \$8,500.00 12HX-1 10 Clean Existing each Catch Basins \$550.00 \$500.00 \$250,00 \$750.00 \$300.00 \$750.00 \$5,500.00 \$5,000.00 \$2,500.00 \$7,500.00 \$3,000.00 \$7,500.00 13AX-A-MOD 1 Catch Basins - Type A, Modified \$6,500.00 \$6,000.00 each \$4,500.00 \$6,660.00 \$10,000.00 \$10,000.00 \$6,500.00 \$6,000.00 \$4,500.00 \$6,660.00 \$10,000.00 \$10,000.00 15X-3P 3 Repair Existing Cement Concrete Type 3, Catch Basin Deck Slab each \$1,750.00 \$2,400.00 \$1,500,00 \$3,500.00 \$1,500.00 \$750.00 \$5,250.00 \$7,200.00 \$4,500.00 \$10,500.00 \$4,500.00 \$2,250.00 16SS-1 Change E evation of Manhole each Casting - Minor Adjustment \$450.00 \$700.00 \$175.00 \$722.00 \$250.00 \$750.00 \$450.00 \$700.00 \$175.00 \$722.00 \$250.00 \$750.00 22CX-M-2 50 Dense Graded Base Course \$175.00 \$175.00 tons Asphalt Concrete \$140,00 \$225.00 \$150.00 \$225.00 \$8,750.00 \$8,750.00 \$7,000.00 \$11,250.00 \$7,500.00 \$11,250.00 26B2-SS 310 Stone Block Curb - Class 2 I.f. \$27.00 \$25.00 \$22.00 \$23.00 \$25.00 \$35.00 \$8,370,00 \$7,750.00 \$6,820.00 \$7,130.00 \$7,750.00 \$10,850.00

Contract No.

11728352

(1) Exceeds Maximum Bid Price

(4) Bid Price as Written in Words

(2) Below Minimum Bid Price

(3) Adjusted Amount

(5) Maximum Bid price

(6) Minimum Bid Price

(7) Corrected Amount

(8) Corrected Total

^{***} Fixed Bid Amount

^{**} Minimm Allowable Bid Price

^{*} Contingency Item

VILLAGE OF UPPER BROOKVILLE
2017 ROAD IMPROVEMENTS
VARIOUS LOCATIONS

VARIOUS LOC	CATIONS			(4)	(0)	(0)	/43	7=3
ITEM NUMBER	QUANTITY & UNITS	DESCRIPTION	ENGINEER'S ESTIMATE	(1) John McGowan & Sons Inc.	(2) American Paving Inc.	(3) Pratt Brothers Inc.	(4) United Paving Corp.	(5) Intercounty Paving Associates, L.L.C.
26B2J-SS	8,125 l.f.	Stone Block Curb - Class 2 - Jumbo Block	\$27.00 \$219,375.00	\$27.00 \$219,375.00	\$27.00 \$219,375.00	\$28.00 \$227,500.00	\$40.00 \$325,000.00	\$30.00 \$243,750.00
26X	1,150 l.f.	Cement Concrete Curb	\$27.00 \$31,050.00	\$25 00 \$28,750 00	\$23.00 \$26,450.00	\$27.00 \$31,050.00	\$25,00 \$28,750.00	\$30.00 \$34,500.00
28D-SS	550 s.f.	Brick, Block, Precast Decorative or Cast-In Place Decorative Driveways and Driveway Aprons	\$25.00 \$13,750.00	\$20 00 \$11,000 00	\$15.00 \$8,250.00	\$16.00 \$8,800.00	\$10.00 \$5,500.00	\$43.50 \$23,925,00
28X	400 s.f.	Reinforced Cement Concrete Driveways and Aprons (7" Thick)	\$20.00 \$8,000.00	\$10.00 \$4,000.00	\$9.00 \$3,600.00	\$12.00 \$4,800.00	\$6.00 \$2,400.00	\$23.75 \$9,500.00
29X	70 s.f.	Driveway Restoration	\$5.00 \$350.00	\$5.00 \$350.00	\$5.00 \$350.00	\$5.00 \$350.00	\$3.00 \$210.00	\$13.00 \$910.00
36D	4,700 tons	Asphalt Concrete, Type 1A	\$109.00 \$512,300.00	\$95.00 \$446,500.00	\$100.00 \$470,000.00	\$83.75 \$393,625.00	\$86.00 \$404,200.00	\$83.00 \$390,100.00
36SS	3,500 s,f.	Asphalt Concrete, Type 1AC	\$5.25 \$18,375.00	\$3.00 \$10,500.00	\$3.50 \$12,250.00	\$6.00 \$21,000.00	\$2.50 \$8,750.00	\$13.00 \$45,500.00
40SS-2	175 gals.	Applying Bituminous Material (Tack Coat)	\$5.00 \$875.00	\$10.00 \$1,75C.00	\$4.50 \$787.50	\$10.00 \$1,750.00	\$5.00 \$875.00	\$3.00 \$525.00
49CM-SS	4,800 l.f.	Reinforced Cement Concrete Gutter Modified (1ft wide)	\$38.00 \$182,400.00	\$15.00 \$72,000.00	\$36.00 \$172,800.00	\$24.00 \$115,200.00	\$21.50 \$103,200.00	\$20.00 \$96,000.00
58X-1	30 I.f.	Saw Cutting Existing Portland Cement Concrete	\$7.00 \$210.00	\$1.00 \$30.00	\$3.00 \$90.00	\$5.00 \$150.00	\$2.00 \$60.00	\$35.00 \$1,050.00
		*** Fixed Bid Amount ** Minimum Allowable Bid Price * Contingency Item		(1) Exceeds Maximum (2) Below Minimum Bid (3) Adjusted Amount (4) Bid Price as Written	Price	(5) Maximum Bid price (6) Minimum Bid Price (7) Corrected Amount (8) Corrected Total		

Contract No.

11728352

^{***} Fixed Bid Amount
** Minimm Allowable Bid Price
* Conlingency Item

VARIOUS LOC	CATIONS			773	(=)		4.0	
ITEM NUMBER	QUANTITY & UNITS	DESCRIPTION	ENGINEER'S ESTIMATE	(1) John McGowan & Sons Inc.	(2) American Paving Inc.	(3) Pratt Brothers Inc.	(4) United Paving Corp.	(5) Intercounty Paving Associates, L.L.C.
58X-2	1,575 I.f.	Saw Cutting Existing Asphalt Pav∍ment	\$3.00 \$4,725.00	\$2.50 \$3,937.50	\$3.00 \$4,725.00	\$3.00 \$4,725.00	\$5.00 \$7,875.00	\$3.00 \$4,725,00
102X	1 Job	Maintenance and Protection of Traffic	Lump Sum \$61,600.00	Lump Sum \$28,000.00	Lump Sum \$20,000.00	Lump Sum \$40,000.00	Lump Sum \$40,000.00	Lump Sum \$50,186.25
200SS-1	1,100 s.y.	Lawn Restoration (Topsoil and Seed)	\$11.00 \$12,100.00	\$7.00 \$7,700.00	\$13.00 \$14,300.00	\$22.00 \$24,200.00	\$8.00 \$8,800.00	\$19.50 \$21,450.00
200SS-2	1,750 s.y.	Lawn Restoration (Topsoil and Sod)	\$15.00 \$26,250.00	\$20.00 \$35,000.00	\$18.00 \$31,500.00	\$25.00 \$43,750 <u>.</u> 00	\$12.00 \$21,000.00	\$26.50 \$46,375,00
366T-SS	5,575 l.f.	Thermopiastic Reflectorized Pavement Markings	\$1.50 \$8,362.50	\$1.80 \$10,035.00	\$1.08 \$6,021.00	\$1.00 \$5,575.00	\$1.00 \$5,575.00	\$0.85 \$4,738.75
398SS-2	925 c.y.	Dense Graded Aggregate Base Course	\$60.00 \$55,500.00	\$75.00 \$69,375.00	\$45.00 \$41,625.00	\$85.00 \$78,625.00	\$85.00 \$78,625.00	\$65.00 \$60,125.00
503SS-1	18,000 s.y.	Mill ng ard Grinding	\$4.50 \$81,000.00	\$3.80 \$68,400.00	\$3.10 \$55,800.00	\$5.00 \$90,000.00	\$5.00 \$90,000.00	\$4.50 \$81,000.00
504SS	37 each	Change Elevation of Water Service Box, Water Main Valve Box, Water Meter Pit, Sanitary Sewer Cleanout or Traffic Signal Pullbox	\$125.00 \$4,625.00	\$75.00 \$2,775.00	\$50.00 \$1,850.00	\$125.00 \$4,625,00	\$50.00 \$1,850.00	\$20.00 \$740.00
536SS	100 I.f.	Formed Asphalt Concrete Tip-Up Gutter	\$20.00 \$2,000.00	\$8.00 \$800.00	\$10.00 \$1,000.00	\$12.00 \$1,200.00	\$10.00 \$1,000.00	\$35.00 \$3,500.00
*568SS-1	1 Job	Force Account Work	Lump Sum \$10,000.00	Lump Sum \$10,000.00 ***	Lump Sum \$10,000.00 ***	Lump Sum \$10,000.00 ***	Lump Sum \$10,000.00 ***	Lump Sum \$10,000.00 ***
		*** Fixed Bid Amount ** Minimum Allowable Bid Price * Contingency Item		(1) Exceeds Maximum Bi (2) Below Minimum Bid P (3) Adjusted Amount (4) Bid Price as Written in	rice	(5) Maximum Bid price (6) Minimum Bid Price (7) Corrected Amount (8) Corrected Total		
		TOTAL		\$1,078,977.50	\$1,138,918.50 (8) \$1,132,168.50	\$1,165,687.00	\$1,182,920.00 (8) \$1,158,920.00	\$1,187,000.00
		BID SECURITY		5 % Bid Bond	5 % Bld Bond	5 % Bld Bond	5 % Bid Bond	5 % Bld Bond

Contract No.

11728352

^{***} Fixed Bid Amount

** Minimm Allowable Bid Price

* Contingency item

Cortract No.

11728352

ITEM IUMBER	QUANTITY & UNITS	DESCRIPTION	ENGINEER'S ESTIMATE	(6) RoadWork Ahead, Inc	(7) Stasi Industries, Inc.	(8) Stasi Bros. Asph. Corp.	(9) Laser Industries	
(1 Job	Clearing and Grubbing	\$2,500.00 \$2,500.00	Lump Sum \$2,500.00 ***	Lump Sum \$2,500.00	Lump Sum \$2,500.00 ***	Lump Sum \$2,500.00 ***	
3-SS	3 each	Tree R∋moval, over 12" up to and Including 24" Diameter	\$800.00 \$2,400.00	\$800.00 \$2,400.00	\$900.00 \$2,700.00	\$1,000.00 \$3,000.00	\$1,200.00 \$3,600.00	
i-SS	3 each	Stump Removal	\$600.00 \$1,800.00	\$1,000.00 \$3,000.00	\$500.00 \$1,500.00	\$700.00 \$2,100.00	\$600.00 \$1,800.00	
	1 Lf.	Trimming Shoulders and Slopes	\$3,500.00 \$3,500.00	Lump Sum \$10,000,00	Lump Sum \$20,000.00	Lump Scm \$10,000.00	Lump Sum \$10,000.00	
HX-1	10 each	Clean Existing Catch Basins	\$550.00 \$5,500.00	\$1,000.00 \$10,000.00	\$900.00 \$9,000.00	\$500.00 \$5.000.00	\$500.00 \$5,000.00	
AX-A-MOD	1 each	Catch Basins - Type A, Modified	\$6,500.00 \$6,500.00	\$10,000.00 \$10,000.00	\$7,500.00 \$7,500.00	\$7,500.00 \$7,500.00	\$2,000.00 \$2,000.00	
X-3P	3 each	Repair Existing Cement Concrete Type 3 - Catch Basin Deck Slab	\$1,750.00 \$5,250.00	\$2,500.00 \$7,500.00	\$5,000.00 \$15,000.00	\$3,000.00 \$9,000.00	\$3,000.00 \$9,000.00	
SS-1	1 each	Change Elevation of Manhole Casting - Minor Adjustment	\$450.00 \$450.00	\$650.00 \$650.00	\$500.00 \$500.00	\$600.00 \$600.00	\$500.00 \$500.00	
CX-M-2	50 tons	Dense Graded Base Course Asphalt Concrete	\$175.00 \$8,750.00	\$175.00 \$8,750.00	\$175.00 \$8,750.00	\$250.00 \$12,500.00	\$125.00 \$6,250.00	
BB2-SS	310 l.f.	Stone Block Curb - Class 2	\$27.00 \$8,370.00	\$28.00 \$8,680.00	\$18.00 \$5,580.00	\$30.00 \$9,300.00	\$25.00 \$7,750.00	
		*** =ixed Bid Amount ** Minimum Allowable Bid Price * Contingency Item		(1) Exceeds Maximum Bid Pric (2) Below Minimum Bid Price (3) Adjusted Amount (4) Bid Price as Written in Wor		(5) Maximum Bid price (6) Minimum Bid Price (7) Correctec Amount (8) Corrected Total		

Sidney B. Bowne Son, LLP

^{***} Fixed Bid Amount
** Minimm Allowable Bid Price

Contingency Item

VARIOUS LOC	CATIONS							
ITEM NUMBER	QUANTITY & UNITS	DESCRIPTION	ENGINEER'S ESTIMATE	(6) RoadWork Ahead, Inc	(7) Stasi Industries, Inc.	(8) Stasi Bros. Asph. Corp.	(9) Laser Industries	
26B2J-SS	8,125 l.f.	Stone Block Curb - Class 2 - Jumbo Block	\$27.00 \$219,375.00	\$28.00 \$227,500.00	\$20.00 \$162,500.00	\$30.00 \$243,750.00	\$29.00 \$235,625.00	
26X	1,150 l.f.	Cement Concrete Curb	\$27.00 \$31,050.00	\$27.00 \$31,050.00	\$24.00 \$27,600.00	\$30.00 \$34,500.00	\$22,00 \$25,300.00	
28D-SS	550 s.f.	Brick, Block, Precast Decorative o- Cast-In Place Decorative Criveways and Driveway Aprons	\$25.00 \$13,750.00	\$15.00 \$8,250.00	\$20.00 \$11,000.00	\$15,00 \$8,250.00	\$25.00 \$13,750.00	
28X	400 s.f.	Reinforced Cement Concrete Criveways and Aprons (7" Thick)	\$20.00 \$8,000.00	\$10.00 \$4,000.00	\$13.00 \$5,200.00	\$10.00 \$4,000.00	\$10.00 \$4,000.00	
29X	70 s.f.	Criveway Restoration	\$5.00 \$350.00	\$6.00 \$420.00	\$6.00 \$420.00	\$5.00 \$350.00	\$20.00 \$1,400.00	
36D	4,700 tons	Asphalt Concrete, Type 1A	\$109.00 \$512,300.00	\$90.00 \$423,000.00	\$139.00 \$653,300.00	\$110.CO \$517,000.CO	\$115.00 \$540,500.00	
36SS	3,500 s.f.	Asphalt Concrete, Type 1AC	\$5.25 \$18,375.00	\$6.00 \$21,000.00	\$5.00 \$17,500.00	\$5.00 \$17,500.00	\$115.00 \$402,500.00	
40SS-2	175 gals.	Applying Bituminous Material (Tack Coat)	\$5.00 \$875.00	\$3.00 \$525,00	\$8.00 \$1,400.00	\$3.00 \$525.00	\$50.00 \$8,750.00	
49CM-SS	4,800 l.f.	Reinforced Cement Concrete Gutter Modified (1ft wide)	\$38.00 \$182,400.00	\$28.00 \$134,400.00	\$12.00 \$57,600.00	\$17.00 \$81,600.00	\$20.00 \$96,000.00	
58X-1	30 I.f.	Saw Cutting Existing Portland Cement Concrete	\$7.00 \$210.00	\$5.00 \$150.00	\$7.00 \$210.00	\$5.00 \$150.00	\$10.00 \$300.00	
		*** Fixed Bid Amount ** Minimum Allowable Bid Price * Contingency Item		(1) Exceeds Maximum Bid (2) Below Minimum Bid Pr (3) Adjusted Amount (4) Bid Price as Written in	rice	(5) Maximum Bid price (6) Minimum Bid Price (7) Corrected Amount (8) Corrected Total		

Contract No.

11728352

May 25, 2017

Page 5 of 6

^{***} Fixed Bid Amount

^{**} Minimm Allowable Bid Price

Contingency Item

Contract No.

11728352

ITEM NUMBER	QUANTITY & UNITS	DESCRIPTION	ENGINEER'S ESTIMATE	(6) RoadWork Ahead, Inc	(7) Stasi Industries, Inc.	(8) Stasi Bros. Asph. Corp.	(9) Laser Industries	
58X-2	1,575 I.f.	Saw Cutting Existing Asphalt Pavement	\$3.00 \$4,725.00	\$5.00 \$7,875.00	\$3.00 \$4,725.00	\$3.00 \$4,725.00	\$3.00 \$4,725.00	
102X	1 Job	Waintenance and Protection of Traffic	\$61,600.00 \$61,600.00	Lump Sum \$5,000.00	Lump Sum \$30,000.00	Lump Sum \$30,000.00	Lump Sum \$20,000.00	
200SS-1	1,100 s.y.	Lawn Restoration (~opsoil and Seed)	\$11.00 \$12,100.00	\$14.00 \$15,400.00	\$3.00 \$3,300.00	\$10.00 \$11,000.00	\$8.00 \$8,800.00	
200SS-2	1,750 s.y.	Lawn Restoration (⊤opsoil and Sod)	\$15.00 \$26,250.00	\$14.00 \$24,500.00	\$24.00 \$42,000.00	\$14.00 \$24,500.00	\$10.00 \$17,500.00	
366T-SS	5,575 l.f.	Thermoplastic Reflectorized Favement Markings	\$1.50 \$8,362.50	\$3.00 \$16,725.00	\$2.00 \$11,150.00	\$3.00 \$16,725.00	\$2.00 \$11,150.00	
398SS-2	925 c.y.	Dense Graded Aggregate Base Course	\$60.00 \$55,500.00	\$100,00 \$92,500,00	\$45.00 \$41,625.00	\$100.00 \$92,500.00	\$40.00 \$37,000.00	
503SS-1	18,000 s.y	Milling and Grinding	\$4.50 \$81,000.00	\$6.00 \$108,000.00	\$4.00 \$72,000.00	\$5,25 \$94,500.00	\$4.00 \$72,000.00	
504SS	37 each	Change Elevation of Water Service Box, Water Main Valve Box, Water Meter Pit, Sanitary Sewer Cleseout or Traffic Signal Pullbox	\$125.00 \$4,625.00	\$300.00 \$11,100.00	\$300.00 \$11,100.00	\$125.00 \$4,625.00	\$100.00 \$3,700.00	
536SS	100 l.f.	Formed Asphalt Concrete Tip-Up Gutter	\$20.00 \$2,000.00	\$40.00 \$4,000.00	\$5.00 \$500.00	\$15.00 \$1,500.00	\$25.00 \$2,500.00	
*568SS-1	1 Job	Force Account Work	\$10,000.00 \$10,000.00	Lump Sum \$10,000.C0 ***	Lump Sum \$10,000.00 ***	Lump Sum \$10,000.00 ***	Lump Sum \$10,000.00 ***	
		*** Fixed Bid Amount ** Minimum Allowable Bid Price * Contingency Item		 Exceeds Maximum Bid Pric Below Minimum Bid Price Adjusted Amount Bid Price as Written in Wor 		(5) Maximum Bid price (6) Minimum Bid Price (7) Corrected Amount (8) Corrected Total		
		TOTAL		\$1,208,875.00	\$1,236,160.00	\$1,259,200.00	\$1,563,900.00	
		BID SECURITY		5 % Bld Bond	5 % Bid Bond	5 % Bid Bond	5 % Bld Bond	

^{***} Fixed Bid Amount

^{**} Minimm Allowable Bid Price

Contingency Item